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INTEGRATED COMBAT RESULTS TABLE 

(Pusan Perimeter & Inchon and the Battle for Seoul maps)

TERRAIN TYPE COMBAT DIFFERENTIAL (attacking strength minus defending strength)

Mountain -1 0 +1 +2, +3 +4, +5 +6, +7 +8, +9 +10

City, Han River -2 -1 0 +1 +2, +3 +4, +5 +6, +7 +8, +9 +10

Marsh, Town, 
Minor River, Hill

-3 -2 -1 0 +1 +2, +3 +4, +5 +6, +7 +8, +9 +10

Bridge (map or engineer) -4 -3 -2 -1 0 +1 +2, +3 +4, +5 +6, +7 +8, +9 +10

Clear -5 -4 -3 -2 -1 0 +1 +2, +3 +4, +5 +6, +7 +8, +9 +10

DIE ROLL

1 (A) A3 A2 • Ex Ex D2 D2 D2 D3 De De

2 (A) (A) A3 A2 • Ex Ex Ex D2 D2 D3 De

3 (A) (A) (A) A3 A2 • Ex Ex Ex D2 D2 D3

4 (A) (A) (A) (A) A3 A2 • Ex Ex Ex D2 D2

5 Ae (A) (A) (A) (A) A3 A2 • Ex Ex Ex D2

6 Ae Ae (A) (A) (A) (A) (A) A1 • Ex Ex Ex

INTEGRATED COMBAT RESULTS TABLE
(Chosin Reservoir map)

TERRAIN TYPE COMBAT DIFFERENTIAL (attacking strength minus defending strength)

Frozen Mountain 0 +1 +2, +3 +4, +5 +6, +7 +8, +9 +10

Frozen Reservoir Hexside -1 0 +1 +2, +3 +4, +5 +6, +7 +8, +9 +10

Frozen Marsh, Town -2 -1 0 +1 +2, +3 +4, +5 +6, +7 +8, +9 +10

Clear, Trail, Frozen River -3 -2 -1 0 +1 +2, +3 +4, +5 +6, +7 +8, +9 +10

Road -4 -3 -2 -1 0 +1 +2, +3 +4, +5 +6, +7 +8, +9 +10

DIE ROLL

1 (A) A3 A2 • Ex Ex D2 D2 D2 D3 De De

2 (A) (A) A3 A2 • Ex Ex Ex D2 D2 D3 De

3 (A) (A) (A) A3 A2 • Ex Ex Ex D2 D2 D3

4 (A) (A) (A) (A) A3 A2 • Ex Ex Ex D2 D2

5 Ae (A) (A) (A) (A) A3 A2 • Ex Ex Ex D2

6 Ae Ae (A) (A) (A) (A) (A) A1 • Ex Ex Ex

De = The defending unit is eliminated.
D3 = The defending unit must retreat three hexes (or deplete one unit of the defending player’s choice, instead; see 7.8).
D2 = The defending unit must retreat two hexes (or deplete one unit of the defending player’s choice, instead; see 7.8).
Ex = One attacking unit and one defending unit must be flipped to their depleted side (or eliminated if already depleted).
A1 = The attacking unit(s) must retreat one hex (or deplete one unit of the attacking player’s choice, instead; see 7.8)
A2 = The attacking unit(s) must retreat two hexes (or deplete one unit of the attacking player’s choice, instead; see 7.8)
A3 = The attacking unit(s) must retreat three hexes (or deplete one unit of the attacking player’s choice, instead; see 7.8)
(A) = One attacking unit must be depleted (or eliminated if already depleted).
Ae = All attacking units are eliminated.
 • = No effect.


